"ER2Z®" RIINFEE

4R F1E 201443 H6H
5 RUELRA VS 1 BA&PA
A= A=
RUE Ba Ba RUE
it . RErptke ;RS it THEE R T3
B BSs A EE B SR 7 : BF/INE
mix | B [mon| w0 | em | miee |moa| me | sR | s T | T
16 | LZrfg x 2H -2 200 1t 3NT +1 430 6
17 | NI 1t INT = 90 [£3] 2NT = 120 1
18 | Edt Jris] 3NT -3 150 x 4S -1 50 3
19 | ;g x 3NT = -600 Jris] 3NT = -600
20 | W&/ [£3] 4H +1 650 [£3] 4S = 620 1
DATUM#:it T
RUELRA BXSPA Y. X+ 4 7
sthe/mEs 3 TES/EEE o | A | 4 | 7
Ay By Wl AN= O wE/EE 3 V.P. 8.41 | 11.59




"ER2Z®" RINFEE

¥4 2 201443 H6H
3 ZRkPA VS 2 [iRERERRA
H= A=
ZHA FREREE [r— 2
1t : FEisk R FE it : Z=IR IR . Fide
52 A TEE B 2EE 7 ESH
mix | B [mon| w0 | em | miee |moa| me | sR | s T | T
16 | LZrfg 1t INT +3 180 x 2Dx -4 1100 14
17 | N 1t 2D +1 110 [£3] INT +1 120
18 | Edb x 4S -2 100 x 4S -1 50 2
19 | ;g x 3NT +1 -630 x 3NT = -600 1
20 | W&/ [£3] 4H = 620 [£3] 4H +1 650 1
DATUMZit T
ZZREPA I iR EREEPA v, 3] 2 16
TR/ BT 6 HIR/ = 12 ait 2 16
FiE/EE 12 TZ/ZERE 6 V.P. 4.08 | 15.92
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%48 03 R 20144316 H
6 ZFEPA VS 4 FFBA
A= =
ETFEBA FFFOBA FFFOBA ETFBA
it : BreEis IR BIKIE it : EEL R §5EE
’ BBk 7 : KBRE B EER i ==Y
mix | B [mon| w0 | em | miee |moa| me | sR | s T | T
16 |HmAE| B8 | oanT | +2 | 180 | & | 2¢ | -4 | 400 6
17 |wx| 46 | 20 | +1 | 10| & | anT | +1 | 120
18 |mit|] = | 4s | 2| 00| & | anT | 2 | 100
19 |&wAE| & | aNnT | = | 600 & | aNT | = | -600
20 |waE| m | aH | = | 620 | B | 4s | +1 | 650 1
DATUM%iit 5 E
SFREA FEFIBA r. 3+ 7
fFme/Eak -11 FEIR/FER 1 ait 7
SEE/BN -1 =RAL 11 V.P. 6.5 | 13.41




